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E : % ouT IN GROSS | HDCP NET B G K 2 ouT IN GROSS | HDCP NET
* 1 B4t E— 42 45 87 21.3 65.7 31| k3 #8— 47 49 96 20.2 15.8
* 2 mE 25 45 45 90 23.9 66.1 32 BRI 1€ 47 53 100 24 16
* 3 Kig K& 44 42 86 18.3 67.7 33 kRt Fik 62 46 108 31.9 76.1
* 4 ItH =P 45 42 87 17.6 69.4 34 HE FIFL 43 49 92 15.8 16.2
* 5 ShHE ek 48 42 90 20.6 69.4 %35 AR & 41 48 89 12.7 16.3
6 =% IE— 43 41 84 12.8 71.2 36| W/ FA 53 51 104 27.6 16.4
*7 A2 B— 48 50 98 26.6 11.4 37 B4 BA 48 55 103 26.2 16.8
8 RiF IEJLA 39 38 17 5.5 115 38 FR B= 44 42 86 8.2 11.8
9 Wi {25 54 42 96 24 1 71.9 39 BH FsE 48 47 95 17.1 11.9
*10 Wit Bk 37 43 80 1.9 121 Y40 KW 18 46 44 90 11.5 18.5
11 RE EX 51 44 95 22.9 121 41| B BE (M) 50 47 97 18 19
12 INGR EER 48 42 90 17.3 12.7 42 gl &F— 42 41 83 3.9 79.1
13 gl F#% 43 41 84 11.2 12.8 43 X Ex o1 50 101 21.6 719.4
14 ey BB 39 42 81 1.9 713.1 44 RE 4 45 46 91 10.8 80.2
*15 T FiE 42 44 86 12.5 13.5 45 AHI IEA 47 45 92 11.8 80.2
16 EA X 45 46 91 17.5 13.5 46 =% # 57 47 104 23.5 80.5
17 KLU XAE 42 43 85 114 13.6 47 R BIL 49 44 93 12 81
18 IRA FHE 4] 44 91 17.3 13.7 48 KH FE o1 o4 105 24 81
19 Mk (& 44 49 93 19.2 13.8 49 NG Bz 58 56 114 32.4 81.6
%20 XKixg R 39 35 14 0.1 713.9 50 il ;&= 58 52 110 26.7 83.3
21 N 47 42 89 14.9 741 51 XE Bt 65 55 120 34.8 85.2
22 Bl A 42 45 87 12.8 74.2 52 ME A= 50 49 99 13.5 85.5
23 ME &% 44 43 87 12.2 74.8 53 e R 55 58 113 24.5 88.5
24 AT EmA 41 39 80 5.1 74.9 54 HaxK BZ 50 55 105 15.6 89.4
*25| LE# {E—EB 46 43 89 14.1 74.9 55| % E—HB 60 60 120 29 91
26 LM [EZ 41 40 81 6 15 56 +E BIA 66 62 128 27 101
27 AAXRH H 45 41 86 10.8 15.2
28 Kk & 50 47 97 21.6 15.4 RRJ0O Kixg R 39 35 14
29 g ;5HE 47 48 95 19.5 15.5
%30 £F% R 43 37 80 4.3 15.7
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R I K £ OuT IN GROSS HDCP NET W& b K £ ouT IN GROSS HDCP NET
* 1 XX = 38 39 11 144 | 62.6 31| kI =& 39 44 83 1.9 75.1
*2| BHE FE 40 44 84 19.3 | 64.7 32 M #ER 50 49 99 23.8 | 15.2
* 3|  #hHE Pl 42 42 84 186 | 654 33 itH —Ef 50 46 96 20.7 | 753
* 4 WK Fif 44 42 86 18 68 34 EAX X 41 40 81 5.6 15.4
*5 HE BA 48 49 97 28.3 | 68.7 w35 A thif 54 o1 105 | 293 | 75.7

6 ¥ I 47 44 91 22 69 36 A =T 44 48 92 16.1 75.9
%7 BEES RE 42 41 83 13.1 69.9 37 &Y BERAX 54 44 98 21.9 | 76.1
8 W ¥ 43 42 85 15.1 69.9 38| &M RE— 43 42 85 8.6 16.4
9 # FRAER 43 43 86 156 | 704 39| WHE B|x o1 52 103 | 265 | 76.5
*10] /NI FAI(M) 49 42 91 203 | 70.7 w40, TH —F 45 42 87 104 | 76.6
11 B&E F—8 42 43 85 142 | 70.8 41 HO E= 59 53 108 | 31.2 | 76.8
12| #H E{T 41 46 87 159 | 711 42| W)l —ER 46 43 89 118 | 71.2
18] #H RE 40 41 81 9.8 11.2 43 Rig Fi¥ 417 43 90 128 | 71.2
14) BIRF WA 43 48 91 19.7 | 713 44 LEH BX 48 45 93 154 | 716
*15 BH % 45 46 91 19.2 | 71.8 w45 FK 2 49 49 98 20 78
16 BEx FIE 41 41 82 10.1 11.9 46) kT K& 44 47 91 128 | 78.2
17 #F BFF 44 44 88 16.1 71.9 47 g IFBE 46 46 92 136 | 78.4
18] =EH KX 44 44 88 15.9 | 72.1 48| AtE 8= 48 o4 102 | 231 | 789
19] /MBS 46 417 93 20.7 | 723 49| XK@ F— 59 45 104 | 246 | 794
%20, FHE A5 42 42 84 113 | 727 %50 K = 54 52 106 | 25.2 | 80.8
21 % EZ 45 43 88 15.2 | 72.8 ol] ER EH 44 59 99 17.1 81.9
22 *RE f#— 47 47 94 205 | 735 2] t X 47 52 99 16.8 | 82.2
23) = Eiig 45 45 90 16.1 13.9 o3| =% FAI 417 46 93 105 | 825
2 HWT AE 46 40 86 12 14
%25 FHFU EX 45 40 85 109 | 741 | [RRYO XX = 38 39 11
260 £H XE& 44 44 88 13.8 | 74.2
21 fEE & 49 45 94 19.8 | 74.2
28 /MR RIS 56 49 105 30.5 | 745
29| pEZzA WA 45 45 90 153 | 74.7
%30 EX IEF 50 47 97 223 | 141
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